
1 droasRolated o circle

8 Maks:

vight angle atthe)A chord of a circleo radiuslocm Subtends a
centre Find the area of the corresponding)minor i)majorsoreñ

2)Jh a circleot radius an angla of 6õ athe21cm,an anc Subtendš an
centve- Find i)the length o the arc ii)araa of sactor tormad by thecic
iis)area o the

Segnent
SAd

Jormad bythe corasponding
chord!

3) A chord ot a cirdle o Gte t bo at the

cantre Find the axeassoasof
radius15(m Subtends an ang

•fthe ciwcle

the
correspondingminor and major segmanls

A chord of a circle of radius12Cmn SubtendsSubtends an analaot (26 at
anglatha contre Find the area of the corresponding sbgnant of the

Circle

S) A hoKse istiedto as) peg at One
rner o a Squase shapad grass

a
tialdof side iSm by means of aa 5m

ong Tope.Find)the area of that pont the field in ohich the horse can
arazeii)the increase in the

Jrazing itthe rope were lom instead
ot Sm.

6 A brooch ismade with silverwire in the torm ot a circlewth diamder
m.The NiYe is also usedin makinq s diameters which dividethe

35 wire

circleinto lo equa) sactors-Find i) Tha tota) lengthof the silverwšire
ii)the area of each sactor ot the brooch.Yequired )the

) An umbrllahaš & vibs which ane eaualy spaced . Assuming umbrella
to be a flat circleo radius uscm, ind the anea betwden the

too consautive ribs at the umbralla

s) A can has two wipers which do not overlap.Each wiper has ablade

of langth
25Cm

sueging though
an

ange
ot lis'Find the total

leaned at each Sweep o the blades

4) Fnd the conea the sector of a circlewith radiusyCm and

ot angle ao. Also,4ind the anea f the covrasponding majar
sactor


